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A & 0l & AFSE B Al A
08EE FZ 2 3 Lete s
2A: HEIEN
S THHE 2l A 2=
&l HIAIE ¥ HHI2Y (St M)
S - FH - SA(S) - AIRA - BES Odl &k24 N3 A HwsZ
OHM St 29,683,934 29,380,858 303,076
= 95,047 80,447 14,600
= 3,361,000 3,361,000 0
| 106,000 106,000 0
] 5,900,000 5,900,000 0
& 5,728,094 5,642,044 86,000
= 14,493,793 14,291,317 202,476
Metoer 2eldH 25 7,668,775 7,402,775 266,000
fay 2,898,000 2,898,000 0
== 1,612,745 1,526,745 86,000
= 3,158,030 2,978,030 180,000
AL & HHI2E 347,640 267,640 80,000
Ha&d 2el 223,940 143,940 80,000
201 22| 122,440 72,440 50,000
01 ArR&telt| 62,400 12,400 50,000
OM&&Y dxtz 50,000,000 x 14! 50,000 0 50,000
405 Xtaks = 30,000 30,000
01 AL ESF S| 30,000 30,000
ootserd MEEH Madl 7
30,000,000 * 14 30,000 0 30,000
LMEs 2 1,705,135 1,519,135 186,000
= 163,745 77,745 86,000
i 1,541,390 1,441,390 100,000
gnes N 1,451,485 1,351,485 100,000
201 LB 363,120 263,120 100,000
01 ArR&teltl 308,120 208,120 100,000
OXS Mol S=S=+ &l gz
100,000,000& *14 100,000 0 100,000
EHHM(EX 86,000 0 86,000
= 86,000 0 86,000
201 22| 6,000 0 6,000
< 6,000 0 6,000
01 AFS-2telt| 6,000 0 6,000
O=Zhlol Y =35+
6,000,000& *14] 6,000 0 6,000
& 6,000 0 6,000
401 AIE YISO 80,000 0 80,000
& 80,000 0 80,000
01 Al&HI 80,000 0 80,000
O=Z MZAIE &X
80,000,000& * 170 A 80,000 0 80,000
(= 80,000 0 80,000
s i 1,667,666 1,650,366 17,300
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SN IS
I usSsF pd
tel: SgnsEst & (St M)
2 - B - SRA(Z) - HREAEY - BES Off ol JN 3 XN Husz
= 75,598 61,998 13,600
pJ 106,000 106,000 0
= 108, 160 108,160 0
z 1,377,908 1,374,208 3,700
nSALE 24 891,966 888,266 3,700
= 14,598 14,598 0
= 1,260 1,260 0
T 876,108 872,408 3,700
Olgl0l WSotN HEWNSHE &4 3,700 0 3,700
308 AXIHMS0IE 3,700 0 3,700
07 MXISHMLLES 3,700 0 3,700
©2022F nSHMHE2 NXIEH2 FE3
3,699,582 x 14 3,700 0 3,700
Sgusso 2 513,000 499,400 13,600
= 61,000 47,400 13,600
Jl 106,000 106,000 0
s 6,900 6,900 0
= 339,100 339,100 0
WAL SEuUSHE FIt 2SN (ZER) 38,000 24,400 13,600
= 38,000 24,400 13,600
307 glzZHo| & 38,000 24,400 13,600
= 38,000 24,400 13,600
05 BIZtRIE = 38,000 24,400 13,600
OunsAAt Sguss+t 2ENA(RER)
38,000,000 * 14 38,000 24,400 13,600
= 38,000 24,400 13,600
grgtel el 225,7% 225,795 0
= 2,365 2,365 0
< 1,327 1,327 0
= 222,103 222,103 0
olgre A 2l 96,754 96,754 0
ANZSRHE X2 (HEALY) 80,040 66,840 13,200
301 LEtENZ 80,040 66,840 13,200
10 MBI =SRA2AS 80,040 66,840 13,200
OSAHI(MEISTIAIL)
140,000& 2021 x4 11,200 0 11,200
OJt=zHl & 2EZ(AMRISXIAIE)
100,000%202! 2,000 0 2,000
AN =ERHE K& (XMA) 10,214 23,414 213,200
301 LEHENS 10,214 23,414 A13,200
10 MSRRIEILS 10,214 23,414 13,200
osAHI(2ad)
& 140,000 %2143 1,120 12,320 A11,200
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2 EED
M plgkel 2e)
Chel: DR A 2t (St M)
S - FH - SA(S) - AIRA - BES Odl &k24 N3 A HwsZ
Ot ¥ SHS(LLHE#E)
2% 100,000& 22! 200 2,200 22,000
tsus 4 X2 3,398,625 3,396,625 2,000
= 12,700 11,700 1,000
Fas 463,000 463,000 0
= 558,462 558,462 0
= 2,364,463 2,363,463 1,000
28AY K 3,3%,125 3,3%,125 0
= 11,700 11,700 0
ray 463,000 463,000 0
& 558,462 558,462 0
= 2,362,963 2,362,963 0
HASSAIY HEXIR 1,087,000 927,000 160,000
< 133,810 133,810 0
= 953,190 793,190 160,000
307 2I2t0IH 1,087,000 927,000 160,000
= 133,810 133,810 0
= 953,190 793,190 160,000
09 2HHEL= 1,087,000 927,000 160,000
Os0EHA Hi=ded THEXIZ
Z& 1,060,000,0002 14 1,060,000 900,000 160,000
= 125,710 125,710 0
= 934,290 774,290 160,000
HARSAIY Ea24 173,000 333,000 160,000
307 212+01 & 173,000 333,000 160,000
09 2+SHEXS 173,000 333,000 160,000
OsSHEHA HUQSH 2EELH T
Z& 140,000,000 * 14! 140,000 300,000 160,000
2EWSIE K& At 2,000 0 2,000
= 1,000 0 1,000
s 1,000 0 1,000
LEWNSIIE XIS A 2,000 0 2,000
= 1,000 0 1,000
i 1,000 0 1,000
308 AXIHMSOIH 2,000 0 2,000
= 1,000 0 1,000
i 1,000 0 1,000
11 BI 2SS AN RAEAIS I 2,000 0 2,000
OYLEWSIIE DIelX X2
2,000,000 *14! 2,000 0 2,000
= 1,000 1,000
i 1,000 1,000
Hegs (M nEN) 604,185 592,409 11,776
EHXE 407,001 395,225 1,776
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